BIOLOGY FORM ONE
MARKING SCHEME
TOTAL MARKS  100

1.a) study of livingthings; (plants and animals)  





(1mrk)
1b) (i)  Cytology;









(1mk)

(ii)Micro-biology;









(1mk)
2.a)Sucking small insects/small animals from rock surface and bark of trees;

(1mk)
(b)A trap into which small crawling animals eg (insects, amphibians etc) fall and get trapped;












(1mk)
3.-Reproduction;








           (2mrks)
-Growth and development;
-Irritability;
4.a) Osmosis;










(1mk)

(b)The sugar exerts a high osmotic pressure and water moves into the potato cavity by osmosis,this dissolves the sugar forming a sugar solution.




(3mks)
(c) (i)  Cell membrane
;








(1mk)
(ii) A-Bi-lipid layer;      







           (4mrks)
B-Protein;
C-Pore;
D-Cell membrane/outside cell;
(d) (i) High temperatures denatures the protein in the membrane hence hinders its normal function;










  (1mk)
(ii) PH above or below the optimum denatures the proteins in the membrane hence the membrane is destroyed;





















(1mrk)
(iii) Will increase excitability of the cell membrane and it interferes with its selectibility to charged particle;









(1mk)
5.a) Semi-permeable membrane;







(1mk)
(b)(i)Visking tubing  is non-living while the cell is a living unit;



(1mk)
(ii) Contents of cytoplasm have a greater variety of molecules than the contents of the visking tube;











(1mrk)
(iii) The pore of the visking tubing are of permanent size and shape while those of  the cell membrane are variable;








(1mrk)
6.a)Smallest unit of classification that is hereditary distinct from other.


(1mk)
(b)Members of a species can interbreed and produce fertile offsprings.Lions and leopards belong to different species.









(1mk)
7.a)common names are the local names known in local vernacular.



(1mk)
Scientific names-are valid names by which living organisms are known all over the world(1mk)                     
(b)Taxonomy is the scientific study of classification.




(1mk)
-Taxon is a group of classification.







(1mk).
8.a)(i)Mitochondria









(1mkk)
(ii)Chloroplast










(1mk)
(b)cell division









(1mk)
-protein synthesis









(1mk)
-cell respiration









(1mk)
-cell growth










(1mkk)

-cytoplasmic  streaming








(1mk)
9.a)Magnification =Drawing length/Actual length




          (2mrks)
=6/2;
=x3;
(b) Fine adjustment  knob results into small movements which would be the only ones required to bring the object into sharper focus.This also ensures that the slide is not crushed by the high power objective lens.









(2mks)
10.a)They package synthesized materials and transport  them  out as secretions.

(1mk)
-They produce lysosomes








(1mkk)

(b)Destroy foreign particle








(1mk)
-Contain lytic enzyme which break down large molecules in the cell


(1mk)
11(a)Hypertonic solution;








(1mk)

(b) The level of sugar solution in the thistle funnel will increase as  it gains water by osmosis from the beaker,the sugar is hypertonic  while the distilled water is hypotonic.; 
           (2mrks) 
12( a)(i)an animal cell which shrinks as a result of  water loss through osmosis;

(1mk)
(ii)a plant cell which shrinks and becomes less rigid or flabby as a result of water loss through osmosis;










(1mk)
13.)It is glandular organ involved in the procession and release of secretions;

(1mk)
14.a)Cilia;










(1mk)
(b) To move the materials over the epithelium;





(1mk)

15.-Presence of pores for semi-permeability;






(1mk)
-Thinness for faster movement of material;






(1mk)
-The polarity of the membrane allows for the movement of substance;


(1mk)
16.(a) it allows the pollen grains to move to the target part of the plant;


(1mrk)
16.b)No. It is a passive process where particles move along  a diffusion gradient;
          .(2mks)
(c) Sodium chloride dissolved in the soil solution forming  a hypertonic  environment hence plant cells lost water by osmosis hence drying up.


















(3mks)
17.a) Cell walls are thick, tough and rigid whereas cell membrane are thin and delicate;
(1mk)
--Cell walls consist mainly of cellulose whereas cell membrane consists of mainly lipids and proteins;










(1mk)
-Cell walls are permeable to most solute molecules whereas cell membrane only allow certain solute molecules to pass.








(1mk)
18.)-Grow









          (3mrks)
-Move   


(mark the first three)
-Feed
-Reproduce

-Develop

-Respire

-Exhibit irritability

19.) a-zoologist                              study of animals;
(both responses should be correct  score a 


        







mark)         (4mrks)
      b-botany                                  botanist;
     c-taxonomy                              study of classification of organism;
     d-ecologist                                study of  relationships between organisms, their environment  

                                                       and with each other; .   
20 (a)  Lantana            camara; 







(1mrk)
    -Lantana             trifoliate    ;







(1mrk)
b.) (i)Lantana 









          (1mrk)
(ii) camara      










(1mrk)
21.a) Eosin dye;









(1mk)

Methylene blue/ iodine solution;







(1mk)
(b)(i)To allow light to pass through the specimen;





(1mk)
 (ii)-To avoid damage of  the tissue;







(1mk)

-blurnt razor blade damages the cell;







 (1mk)

22.a)Active transport;









(1mk)

(b) Energy;










 (1mk)
-Protein carrier;









(1mk)

23.a)Iodine diffuse from the visking  tube to the water  in the beaker;


(1mk)
(b)Starch molecules reacted with  iodine solution forming a blue-black  solution;

(1mk)
(c)The starch molecules were too big to pass through the pores of the visking tube to the water  to react with iodine solution although they are in higher concentration;


(1mk)
(d)The iodine molecules are at high concentration in the beaker and small enough to pass through the pores of the visking tubing into the tubing with starch solution where they react  with starch molecule to form a blue-black colour.






(2mks)
24.) Protoplast is made  of a cell membrane ,cytoplasm and nucleus ;while protoplasm is only made of the cytoplasm and nucleus;







(2mks)
25.a)Is the ability of a microscope to differentiate two close points/parts separately/ability to bring clarity;










 (1mk)
(b)Light                                                                            electron


        (4mrks)
1.low resolving power                                               1.high resolving power
2.uses light                                                                  2.uses beam of electron
3.coloured  images                                                     3.black and white images
4.uses both  live and dead specimen                      4.uses dead specimens
26.) 










    (3mrks)
	OSMOSIS
	DIFUSION

	Random movements of only solvents
	Random movement of molecules

	Movement of water molecules from areas of less concentration to more concentrated solution
	Movement of molecules from areas of high concentration to areas of low concentration

	Require a semi-permeable membrane
	Does not require a semi-permeable membrane. It takes place through any medium


27(a.)Haemolysis-is the process by which red blood cells take in water by osmosis till they burst when placed in a hypotonic solution compared to their cytoplasm
Plasmolysis-is the process whereby plant cells loose water by osmosis,become flaccid,and cell membrane detaches from the cell walls when they are placed in a hypertonic solution compared to the cell cytoplasm;








           (2mrks)
(b) Cytplasmic streaming;








(1mk)
28(.a) Animal cell;









(1mk)

(b)A-cell membrane;









(1mk)
      C-nucleus;










(1mk)
29.)-Enables one to observe the organisms/specimens/magnification;

          (4mrks)
        -Holds objective lens in line with eye piece;
        -Concentrates an d directs light to the stage of the microscope;
        -Flat platform where specimen on the slide is placed.;



END!
6

